Bioclimatique RETRACTABLE version
Installation instructions

owwan R-TRACTABL

P: 200 cm < 600 cm

AWNINGS .com

Tel (305) 628-2424
P N Tel (866) 438-2964
e VAN info@retractableawnings.com

All information contained in this document was provided by the
manufacturer of the components for this particular model. As a

fabricator/distributor, Retractableawnings.com Inc. claims no
NS liability with respect to these documents as we are not
engineers and did not complete any of the information,
engineering or calculations in this document.

All measurements in this document are metric. To convert from
metric (meters, centimeters and millimeters) to imperial (feet
and inches) visit this website:
http://www.onlineconversion.com/length_common.htm

Page 1 of 15
er




Installation
GUTTER

STEP |
MOTOR SIDE

FLANGE

GUTTER

POST—

DIN 933
M8 x 25

Page 2 of 15




Installation
GUTTER

STEP II
FRONT SIDE

FLANGE

POST///

GUTTER

7,

Page 3 of 15




Installation
RAFTER

ISO 7380-A2
M8 x 16

RAFTER

STEP Il

NS

NS

NS

NS

1SO 7380-A2
M8 x 16

-~

Page 4 of 15



ISO 7380-A2
M8 x 16

MOTOR BOX

Installation

MOTOR BOX

STEP IV

NS

1SO 7380-A2

M8 x 16

N

NS

Page 5 of 15



ISO 7380-A2
M8 x 16

Installation
TOP COVER

STEP V

Page 6 of 15



Installation
LOUVRE

STEP VI

NS

P

NS

Page 7 of 15



Installation
SHAFT

STEP VI

HEXAGON MILES

SQUARE SHAFT

Page 8 of 15




Installation

Programming RTS Somfy motor

STEP VII

if

H

 iddgied

D

(b
i

21

( ddbiadh

il

(W

il

( d6agito

]

( cabiden

Page 9 of 15



Installation

LIGHTING STRIPE PROFILE  (OPTIONAL ITEM)

STEP VIII-A
TOP COVER MOTOR BOX
RGB LED CAP RGB LED CAP.
LIGHTING STRIPE PROFILE LIGHTING STRIPE PROFILE
STRIPE LED CAP STRIPE LED CAP
STEP VIII-B

RAFTER RAFTER

i
]

| I | (e

TT P 9%
T =

RGB LED CAP RGB LED CAP

o/

—

STRIPE LED CAP STRIPE LED CAP

\DIN 7504 DIN 7504/
4,2X19 4,2X19

ni

L

Page 10 of 15




Installation

WHITE LIGHTING

STEP IX-A

(OPTIONAL ITEM)

V4

- gy
BACK

-

'

Z

o

O

2

0

>

9 9)

I'II_'I
| FRONT

EXTENSION CABLE Tﬂ‘;

220 AC

output

———me TRAFO T _%—J
MONO
WHTETGHT SMITER B0x

Page 11 of 15




Installation

RGB LIGHTING  (OPTIONAL ITEM)

STEP IX-B

| -

BACK

3471aVvO NOISN3LXH

FRONT

| -
~ EXTENSION CABLE _lﬂr

= TRAFO T :dd

220 AC

Page 12 of 15




Installation

RAFTER SIDE COVER PROFILE

STEP X-A

DIN 7504
4,2X19

L 3 RAFTER
RAFTER SIDE COVER \ u/

d

| (| =4

STEP X-B

GUTTER CAP PROFILE

GUTTER CAP

DIN 7504
4,2X19

DIN 7504
4,2X19

RAFTER

TOP COVER MOTOR BOX
~
(=
i
E;[
DIN 7504 DIN 7504,
4,2X19 4,2X19
.
TOP COVER MOTOR BOX

X o= CJ
-

L

i

Page 13 of 15







Installation

COLUMN PROFILE COVER CAP

All information contained in this document was provided by the
manufacturer of the components for this particular model. As a
fabricator/distributor, Retractableawnings.com Inc. claims no
liability with respect to these documents as we are not engineers
and did not complete any of the information, engineering or
calculations in this document.

All measurements in this document are metric. To convert from
metric (meters, centimeters and millimeters) to imperial (feet
and inches) visit this website:
http://www.onlineconversion.com/length_common.htm

Page 15 of 15




